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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION NOVEMBER 2018

STANDARD: VIIT MAX MARKS: €0
PHYSICS (SCIENCE PAPER 1) MAX TIME: 1HOURS 30 MIN
GENERAL INSTRUCTION:

e Answers to this paper must be written on the paper provided separately.

e You will not be allowed to write during the first 10 minutes.

e This time is to be spent in reading the question paper.

e The time given at the head of this paper is the time allowed for writing the answers.

e Write the question numbers clearly, follow the same system of numbering as given in the
question paper.

e Follow the instructions carefully and answer to the point.

e The intended marks for questions or parts of questions are given in brackets ().

SECTION: 1
(ANSWER ALL THE QUESTIONS)
QUESTION:1

a. Choose the correct answer. 1x6 =6

i Boiling takes place at:
A. Any temperature. B. Its boiling point only
C. The bottom of the liquid . The surface of the liquid.

ii. Sublimation takes place when:
A. Liquid changes to vapour B. Vapour changes to solid

¢. Solid changes to vapour, D. Vapour changes to liquid
ili.  If density of a body is than the density of a liquid than the body.
A. Floats C. First floats and then sinks
B. Sinks D. First sinks then floats.
iv.  The liquid used in simple barometer is:
A. Water C. Mercury
B. Kerosene D. Alcohol
v. Pressure at a given point inside a liquid increases with:
A. Depth from the free surface.
B. Area of liquid column
C. Height of the liquid from the bottom
D. Volume of liquid.




image2.jpeg
vi.  a. The compressed spring possess:
A. Kinetic Energy C. Light Energy
B. Heat energy D. Potential Energy
b. How does the Kinetic Energy of the particles in a body change when the
body is cooled gradually? Explain. [2]
c. How does the density of a liquid vary with temperature? [2]

QUESTION -2
a. Fillin the blanks and re-write the statement: 1x6=6
i Atmospheric pressure increases with decrease in
ii.  Ifthe mass of a body is halived , its potential energy willbe
iii.  Coal and Petroleum have energy stored in it.
iv.  The mirror is used as a rear-view mirror.
V. The velocity of light in glass is than that in water.
vi.  Substances which catches five early are substance.
b. Write any two differences between Density and relative density. [2]
c. State Pascal’s law [2]
QUESTION -3.
a. Write true or false and re correct the false statement correctly. 1%6 = 6

i.The energy from the sun is due to nuclear reactions.

ii. Power of a body is the product of work and time.

iii. Twinkling of Stars takes place because of atmospheric refraction.
iv. Superficial expansion is expansion in length.

v. It is easier to open a nut by a long spanner.

vi. A bubble is seen to grow its size as it rises to the surface of liquid.

p» Give Reason for the following : 1x4=4
i. A bimetallic strip bends when heated.
ii. A coin placed at the bottom of a beaker containing water appear raised.

iii. A flying bird has both Kinetic Energy and Potential Energy.
iv.  Our noses sometimes bleed at high attitudes.
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SECTION-II
ANSWER ANY THREE QUESTIONS:

QUESTION:4

a. Explain evaporation on the basis of Kinetic Theory. [3]
b. An empty density bottle weighs 20g. When completely filled with water, it

weighs 50g and when completely filled with kerosene oil it weighs 44g

calculate: [3]
i Volume of the density bottle.

ii. Density of kerosene oil (d.water =1g/cc)

i. Explain the statement ‘relative density of brass is 8.4 « [4]

ii State the law of flotation.
iiiWhat is anamalous expansion of water.

QUESTION:S

a. i. The moment of a force of 25N about a fixed point 0 is SNm . Calculate the

distance of the point 0 from the line of action of the force. [4]
ii.Write two factor’s which affect the turning effect of a body.

. i. Write any two difference between the pressure exerted by solid and liquid [3]

ii.How will the barometric height be affected if mercury was replaced by water
in a simple barometer?

1.How atmospheric pressure depends on weight from the earth’s surface. [3]
ii.A concrete slab weighing 300N. of dimension 30cm x 20cm x 10cm is placed
on the ground. Calculate the maximum pressure exerted on the ground.

QUESTION:6

a.

A bucket of water of mass 17.5kg is lifted from the ground level to a weight of
7m of a building. What will be the potential energy of this bucket of water at (3]
this height? Take g = 10m/*

i. Define S I unit of work.

ii.State two factors that determine the work done by a body. [3]

i. Write three difference between Energy and Power.

ii.State the law of conservation of energy. [4]
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QUESTION:7
a. Complete the ray diagram and write the characteristics of image formed. [4]

B uy

b. i. Find the speed of light in diamond if its refractive index is 2.5.

( Speed of light in air =3x10® m/s [3]
ii.What causes the refraction of light between two different optical medium?
c. What is dispersion? What is the cause of dispersion? [3]

QUESTION-8:

a. Explain thermal expansion on the basis of Kinetic theory. [3]
b. i.Write the relation between real expansion of the liquid and apparent expansion
of the liquid. [31

ii.When flask containing cold waer is dipped in hot water bath.What happens to
the level of water in the flask? Give reason for your answer.

c. 1.Why a thick walled glass vessel cracks when hot water is poured in it. [4]
ii.Write any two practical application of thermal expansion in solid.
iii.When we touch ice we feel cold. Why?




